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Part- A 5 x 1 = 5

The birth place of the Renaissance was-----------

(a) Italy  (b) Germany  (c) England  (d) Austria

Constantinople was captured by the Turks in -------------

(a) 1452 A.D.  (b) 1553 A.D  (c) 1453 A.D  (d) 1353 A>D

Vasco da Gama reached Calicut in -----------

(a) 1498  (b) 1497  (c) 1496  (d) 1499

--------------- was the birthplace of the industrial revolution

(a) USA  (b) France  (c) England  (d) Germany

In ------------- first passenger railway was operated in Britain

(a) 1830  (b) 1850  (c) 1779  (d) 1900

Part- B 5 x 3 = 15

What were the two broad divisions of the Renaissance movement?

The council of Trent-Define

What were the e�ects of the new voyages? 

What is meant by the term 'Industrial Revolution'?

Write a note on Revolution in Agriculture?

Part- C 3 x 5 = 15

What were the results of Renaissance?

Write a note on " The Inquisition ' and 'index'

Mention some important scientific Inventions that were made during the Industrial Revolution.

Part- D 2 x 5 = 10

Society of Jesus 

a) Who founded the Society of Jesus? 

b) In which year it was founded? 

c) How many members enrolled in the society of Jesus? 

d) Who were the agents propagating the Counter Reformation?

The invention in power 

a) Who invented a new Steam engine in 1769? 

b) who invented the safety Lamp? 

c) What did Bersemer invent in 1855? 

d) Who introduced the pudding process? What is it used for
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